

REQUEST FOR QUOTATION	<p style="text-align: center;"><b>TROY SCHOOL DISTRICT</b></p> <p style="text-align: center;">1140 RANKIN, TROY, MICHIGAN 48083</p> <p style="text-align: center;">248-823-4052</p> <p style="text-align: center;">FAX: 248-823-4077</p>	REQUISITION
No. <b>9403</b>		
DUE DATE <b>3-26-07</b> NO LATER THAN <b>3 p.m.</b>		DATE <b>3-12-07</b>

**REQUEST FOR QUOTE – NOT AN ORDER**

THIS FORM MUST BE UTILIZED WHEN RESPONDING TO THIS REQUEST  
 BID ENVELOPE ENCLOSED

**THE RFQ NUMBER MUST APPEAR ON ALL QUOTATIONS AND RELATED CORRESPONDENCE, THIS IS NOT AN ORDER**

Quantity	DESCRIPTION	UNIT PRICE	AMOUNT
	<p>Please supply us with your bid to furnish the Troy School District with <b>PACKING MATERIALS</b> per the attached specifications.</p> <p style="text-align: center;">Copies of the bid are available at:  <a href="http://www.troy.k12.mi.us/purchasing/items_out_for_bid.htm">www.troy.k12.mi.us/purchasing/items_out_for_bid.htm</a></p> <p style="text-align: center;">Bid recaps will be available at:  <a href="http://troy.k12.mi.us/purchasing/index.htm">troy.k12.mi.us/purchasing/index.htm</a></p> <p style="text-align: center;"><u>FACSIMILE BID IS NOT ACCEPTABLE</u></p> <p>Bids will not be accepted if submitted after the deadline specified (local time) in the advertisement to bid or in the information to bidders. The late submission of a bid makes the bid nonrepsonsive and is a material defect which shall not be waived by the Board of Education. Delays in the mail will not be considered. All Late bids in the mail will be returned to the bidder unopened.</p> <p>Proposal for the submission of alternatives by vendors will be accepted and reviewed. However, if any substitution or departure is not clearly noted and described, it will be understood that the bid intends to exactly meet the specifications.</p> <p>The Board of Education shall be the sole judge as to whether the proposed goods are "equal" or "approved". Quotations must be mailed or delivered to the Purchasing Office, 1140 Rankin, Troy, MI 48083 no later than 3 p.m. on the date shown above. Michigan State Sales and Use Taxes and Federal Excise Taxes do not apply unless otherwise indicated. Exemption certificates will be furnished when necessary. This request imposes no obligations on the buyer. The Board of Education reserves the right to accept or reject any or all bids or to split awards by items or to accept bids, which will best serve the Board of Education.</p>		

**THIS AREA MUST BE FILLED IN**

DELIVERY TIME	PRICES FIRM FOR	NAME OF COMPANY	TELEPHONE NO.
TERMS		NO. & STREET	FAX #
FOB DELIVERED	ALL DELIVERY CHARGES MUST BE INCLUDED IN PRICES SHOWN	CITY, STATE & ZIP CODE	E-MAIL
CONTACT PERSON (PLEASE PRINT)		SIGNATURE	DATE



**TROY SCHOOL DISTRICT  
 BID 9403 PACKING MATERIALS**

**SPECIFICATIONS - PRICING:**

Description	Size	Package	Estimated Count	Estimated Amount
Flip-Top File Boxes (Heavy Duty Construction) Attached lid – Triple Wall Ends – Double Wall Bottom	15" x 12" x 10"	Bundle	3000 Boxes	
Flip-Top File Boxes (Heavy Duty Construction) Attached lid – Triple Wall Ends – Double Wall Bottom	24" x 12" x 10"	Bundle	250 Boxes	
Corrugated Boxes	24" x 24" x 24"	Bundle	250 Boxes	
Corrugated Boxes	36" x 12" x 12"	Bundle	250 Boxes	
Snap-Seal Tubes Thickness .080	Inside Length 36" 4" Diameter	Carton	250 Tubes	
Kraft Telescopic Tubes 6" flush joint cap – 1/8" spiral-wound double wall (.125)	Inside Length 36" 4" Diameter	Carton	25 Tubes	
Kraft Telescopic Tubes 6" flush joint cap – 1/8" spiral-wound double wall (.125)	Inside Length 42" 4" Diameter	Carton	25 Tubes	
Labels – Fragile Handle with Care Red/White or Red/Black	2" x 3"	Roll (500)	10 Rolls	
Blank Heavy Cardstock Tags – White With 12" Doubled Wire Fastener	3-1/4" x 1-5/8" Comparable Size will be Excepted	Package	5,000 Tags	
Stretch Wrap Dispensers For 18" long / 1500' Roll / 3" Tube	Adjustable Fit 12, 14 and 18" wide film	Each	10 Each	
Stretch Wrap Disposable Hand Wrapping System	20" wide by 1000' Long 0.80 Gauge	Roll	25 Rolls	
Polyethylene Film Clear .0015 Mile	10' wide by 200' Long	Roll	100 Rolls	
<b>SHIPPING CHARGES</b>				
<b>TOTAL</b>				

Bidders may be required to provide samples to determine if products meet specifications outlined.

Packing materials to be delivered to one location:

Troy School District  
 Purchasing Dept.  
 1140 Rankin  
 Troy, Michigan 48083

TROY SCHOOL DISTRICT Bid 9403 Packaging Materials	Co. Office Express Terms: Net 30 Firms: 30 D Estimated Amount		Co. Pac-King LLC Terms: Net 30 Firms: 30 Days Estimated Amount		Co. HP Products Terms: Net 30 Days Firms: 90 Days Estimated Amount		Co. Amerisource Terms: Net 30 Firms: 30 Days Estimated Amount		Co. All American Poly Terms: 1% 10 Net 30 Firms: 45 I Estimated Amount		Co. Office Depot Terms: Must contract sales rep to place order Estimated Firms: Amount		Co. Uline, Inc. Terms: Net 30 Firms: Stock item 1 Estimated Amount	
Flip-Top File Boxes (Heavy Duty Construction) Attached lid – Triple Wall Ends – Double Wall Bottom 15" x 12" x 10" Bundle 3000 boxes	2.25	6,750.00	1.09	3,270.00	0.94	2,820.00	0.97	2,910.00		NO BID		NO BID	1.78	5,340.00
Flip-Top File Boxes (Heavy Duty Construction) Attached lid – Triple Wall Ends – Double Wall Bottom 24" x 12" x 10" Bundle 250 boxes	4.38	1,095.00	Alternate 24 x 12 x 12 1.94	485.00	1.15	287.50		NO BID		NO BID		NO BID		NO BID
Corrugated Boxes 24" x 24" x 24" Bundle 250 boxes	2.23	557.50	2.52	630.00	1.73	432.50	1.48	370.00		NO BID		NO BID	2.45	612.50
Corrugated Boxes 36" x 12" x 12" Bundle 250 boxes	1.47	367.50	1.60	400.00	0.93	232.50	1.27	317.50		NO BID		NO BID	1.33	332.50
Snap-Seal Tubes Thickness .080 Inside Length 36" 4" Diameter Carton 250 boxes	sold in 15's - 240 tubes 1.72	412.80	1.85	462.50	special order 15/case 1.41	352.50	with crimped ends = \$1.90 = \$475 with plastic plugs 1.80	450.00		NO BID	did unit of measure 15 tubes per box each box - \$98.99 250 is 17 bxs 98.99	1,682.83	1.72	430.00
Kraft Telescopic Tubes 6" flush joint cap – 1/8" spiral-wound double wall (.125) Inside Length 36" 4" Diameter Carton 25 tubes	sold in 15/s - 30 tubes 3.69	110.70	7.22	180.50	special order 15/case 2 cases 3.74	93.44		NO BID		NO BID		NO BID	3.36	84.00
Kraft Telescopic Tubes 6" flush joint cap – 1/8" spiral-wound double wall (.125) Inside Length 42" 4" Diameter Carton 25 tubes	sold in 15/s - 30 tubes 4.06	121.80	7.47	186.75	special order 15/case 2 cases 4.11	102.86		NO BID		NO BID		NO BID	3.60	90.00
Labels – Fragile Handle with Care Red/White or Red/Black 2" x 3" Roll (500) 10 rolls	10.66	106.60	14.23	142.30	20.83	208.30	Red/White 2-1/4 x 4 14.00	140.00		NO BID		NO BID	7.50	75.00
Blank Heavy Cardstock Tags – White With 12" Doubled Wire Fastener 3-1/4" x 1-5/8" Comparable Size will be Excepted Package 5000 tags	134.90	134.90	prewired 237.70	237.70	1M Case 118.85	118.85	Manila - 1000/box 3-3/4 x 1-7/8 49.90	249.50		NO BID	1000 per box \$35.99 35.99	179.95	35.00	175.00

TROY SCHOOL DISTRICT Bid 9403 Packaging Materials	Co. Office Express Terms: Net 30 Firms: 30 D Estimated Amount	Co. Pac-King LLC Terms: Net 30 Firms: 30 Days Estimated Amount	Co. HP Products Terms: Net 30 Days Firms: 90 Days Estimated Amount	Co. Amerisource Terms: Net 30 Firms: 30 Days Estimated Amount	Co. All American Poly Terms: 1% 10 Net 30 Firms: 45 I Estimated Amount	Co. Office Depot Terms: Must contract sales rep to place order Estimated Firms: Amount	Co. Uline, Inc. Terms: Net 30 Firms: Stock item 1 Estimated Amount
Stretch Wrap Dispensers For 18" long / 1500' Roll / 3" Tube Adjustable Fit 12, 14 and 18" wide film Each 10 each	42.00 420.00	77.35 773.50	25.58 255.80	5.25 52.50	NO BID	60.29 602.90	\$58.00 each = \$580.00 \$60.00 each = \$600.00 50.00 500.00
Stretch Wrap Disposable Hand Wrapping System 20" wide by 1000' Long 0.80 Gauge Roll 25 rolls	sold in 4's 9.45 226.80	Alternate 5000' long x 20" = 5 rolls @ \$47.60 47.60 238.00	9.22 230.50	4/cs 24 rolls 11.20 268.80	NO BID	32.39 809.75	\$17.50 roll = \$187.50 12.50 312.50
Polyethylene Film Clear .0015 Mile 10' wide by 200' Long Roll 100 rolls	15.24 1,524.00	Alternate 500' long w/centerfold 40 rolls @ \$48.55 48.55 1,942.00	15.40 1,540.00	18.75 1,875.00	6.12 612.00	NO BID	\$33.00 roll for 76 = \$2,508.0 10' x 350' \$35.50 roll for 38 rolls = \$1,349.00 10' x 350' 114 rolls 31.25 3,562.50 10' x 350'
SHIPPING CHARGES	-0-	No charge for orders \$1000 or more	-0-	-0-	no charge on order over \$500	Order over \$50 no charge	Included in costs
<b>TOTAL</b>	<b>11,827.60</b>	<b>8,948.25</b>	<b>6,674.75</b>	<b>6,633.30</b>	<b>612.00</b>	<b>3,275.43</b>	<b>11,514.00</b>

Jem Industries - No Bid  
Pratt Industries - No bid  
Staples - No Response